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Run 4608 quartetwise, posH(O: Beam DH

aamd lned ok
Laser ON Entriea: 85417 Entries: 69576
— Mean: 11.7095 +- 0.0010 Mean: 7.2602 «/- 0.0007 BO57E
B — Laser OFF Std Dev: 0.2068 +- 0.0007 | Std Dev: 0.1800 +- 0.0005 7.26
B S0 DBV 0.18
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Run 4608 quartetwise, asym0Osub: Beam ON
- Laser ON Entries: 85417 Entries: 69576
— Mean: 14.9694 +- 0.1124 Mean: 0.3043 «- 0.0827
— — Laser OFF Std Dev: 328516 +- 0.0795 | Std Dev: 21.8053 +- 0.0585
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Run 4608 quartetwise, negHO: Beam DIN

- . aami_lasl nagHD
= LEEET DN Entries: 83411 Entries: 8956
[— Mean: 113783 «'- 00010 Mean: 7233 «- 00007 69576
[ LEEE[ DFF std Dew: (L2884 - 0L000F Std Dew: L1788 +- 0.0005 7.258
— oo 0.17398
— | 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 | 1 1 1 1 | 1 l I
7 8 9 10 11 12 13
-------- Histogram Vars

Positive Hel (ON): 11.709528 +/- 0.001016
Negative Hel (ON): 11.578538 +/- 0.001007
Positive Hel (OFF): 7.260169 +/- 0.000683
Negative Hel (OFF): 7.257501 +/- 0.000682
-------- Sums and Diffs

On Diff: 0.130990 +/- 0.000982

Off Diff: 0.002669 +/- 0.000725
On Sum: 23.288066 +/- 0.001769
Off Sum: 14.517670 +/- 0.001156
-------- Asymmetries
On Asym: 14.935443 +/- 0.112034 (ppt)
Off Asym: 0.304281 +/- 0.082667 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 8.770396 +/- 0.002113
BkSub Asym: 14.631162 +/- 0.139232 (ppt)




asym (AccO) / ppt

Run 4608 quartetwise, posHO vs time Run 4608 quartetwise, negHO vs time
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Run 4608 quartetwise, bcm vs time
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